
DESCRIPTIONSHIMANO
CODE NO.

ITEM
NO.
*
*
*

0607-2583

1
2
3
4
5
6
7

Clamp Bolt (M5 x 15)
Stroke Adjust Screws (M4 x 13) & Plate
Cable Fixing Bolt Unit (M5 x 8.5) 
Chain Guide Fixing Screw (M4 x 3)
Clamp Band Adapter (2 pcs.) for S-size /   28.6 mm (1-1/8")
Clamp Bolt (M5 x 13.5) for Brazed-on Type
Radius Washer for Brazed-on Type

Y-5BG
Y-5JM
Y-5K7
Y-58G
Y-5JD
Y-5C2
Y-58G

07600
98010
98010
14000
98020
52000
53200

INTERCHANGE-
ABILITY

A

A
B

FD
-4

40
0

A: Same parts.
B: Parts are usable, but differ in materirals, appearance, finish, size, etc.
Absence of mark indicates non-interchangeability. 

2

1

4

4

FD-4503

Brazed-on Type

Band Type

2

5

3

3

6
7

For Double Gear

For Triple Gear

FD-4500
FD-4503

TIAGRA Front Derailleur


